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Honors Chemistry Workshect: Heats of Reaction

1. For the reaction ol S, + O =2 S0 AN 296 kI
Tow miech heat 1= evolved when 355 grams of sulfur 1= burned in excess oxvgen™
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In the fermentation of glucose, CaH 1206, ethanaol {C2HsOH) and carbon dioxide gas formed. If each mole
of glucose yields 67 k). how much energy would have been released when 350, ml of pure ethanol is

2:
formed. Density of ethanal is 079 efml.
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3. Giiven: O3Hggy + 5000 3 30050 ¢ 4HaOyy AKH= —2221 k1. The combustion of a sample of
propane, CiHyg, released 35 M1 of heat. What volume of CiHg and O gas were required at STP?
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Uisingr the informarion ahove jn guestion #3. 20,0 grams of propane reacted with 700 zrams of oxygen. 1
all ol this heal was transferred (o .00 of water at | 2.0°C what would the final temperature of the water be’!

B
Recall Calorimetry” Q=Cgpm AT, Cppzo = 4.180/2.7C
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